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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qrfor &9 G dferd s== % e e
e 1 fR7e IugeRt =il ?

1) omuEe faeEm
2) fafdre forem
3) st fren
4) ot e

frfofag & @ 9-a1 o Req

SRR 1 B 101115 B o S e et [«

g fhuEen & dey ¥ gal

g7

1) OE-UgaM UF ScHh HAI-HIoT
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7&q ol

3) IE-UeaM UH qetd HHI-9mHiorh
R

4) E-YEAN His FA-GHITE TBY
& @ R

TF gemsd e § fefated § 9
H-41 faQrear 72 3E AR ® ?

1) STEn Ride
2) 3iq ot
3) U= FHUA
4) IR =R
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Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4.

frefefeg & @ *F-&@ Q9w
IR &l Il W HhHD
g9 7gf Sl & °

1) HESTEE &9 § Wi Faer
2) wigd ArITE R T
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1) ETESD

2) feFES

3) STERHS

4) ITHD
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4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative



1.
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diftg &t B, afch zaer ot foedr o
= & SR T 81 ot 31”7
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1) THo Hio Tho 2005
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1.

8.

9.

[5/A]

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, (c) & (d)

4) (@, ®), (©) & (9

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.



[6/A]

10.

11.

12.

[ Level
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10.

11.

12.

Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@ @
) 1 III II I
2) III II Im 1
3) II 111 I II
4) 1I I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.
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(a) fofad
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(c) RIS

(d) s
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3) (a),(c) T (d)

4) (a), (b), (c) W (d)
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1) Todeiss & 99 T J0e9 Th
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el wd oTpicRl BT B &
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13.

14.

[7/A]

Which of the

examinations are

following
the basis of

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test

individual or group.

can be either

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.



[8/A]

15. frfefaa & & d9- JH e & 15. Which of the following pair is not

ProTmar g@ Rrsid & o g@ ® correct regarding elements of
dd T 3% AOM P dey § TR intelligence and their dimension,
Ter %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g&&' % @ HEH Intelligence
1) IHE IS 1) Unit Product
2) G fspar 2) Cognition Operation
3) Hediw fspar 3) Evaluation Operation
4) gy ey 4) Relations Content

16. g & @ @9-d@ 9@ df=a 16. Which one of the following is not a

AR gRehoT Hl TqE fRIver 78 key feature of child centred

g7 learning approach ?

1) GefE dEe & e 1) Meaningful learning

opportunities

2) UHd [T qr 2) Single learning pathway

3) €ad ‘1@1’4’7'[ 3) Continuous assessment

4) ™ fareror |fdT| 4) Accessible learning settings
17. g0 % SFJAR, JeOTes dE @ 17. According to Bandura, which is not

HV-G SraHeeT ke 78 & ? the interrelated processes of

observational learning ?

1) SA9YMEIHS BIEDIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) IXOT® yfshamd 3) Motivational Processes

4) LDIEEI e EIY 4) Conjunctional Processes

[ Level-3 /1308 ]



19.

20.

21.

4) T HIE (3T5H) qeH

e B B £ o R R G
PINT B AFE Hl TATIT B & ¢
1) eagar 2) feenter
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e AT | 1 A e M e et e
UrEl ofaeenet & @@ W B T
FifoTT

1) gEEen — i ggEEeEr -
AR - EEeEr -
SEEIT-2CI)|

2) TEEE — FEEEe — [T
TYNERT  —  SERETEel —
RCICEl]

3) gEEE — TEERT — AT
TONEE - S Ee -
SEEIEI L]

4) EFFEEl - EEEr -
qEEe — SEAEgEE — T
PEIEICII]
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18.

19.

20.

21.

[9/A]

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.



[10/A]

22.

23.

24.

YaaE & e omEHE oM
Rfgic & ATJHR w@lias 6 gt
SEITH & TERJNHT H HI-A1 FHIiTh
9 G H Haifds guad T ?

1) HHFITH

2) facifaa

3) T&d

4) ULH

e & s O ’Meid @
e omen H oomd  Riew qwn
AT I &HaT g 8 St
g7

1) G-

2) Yd-GHAS

3) Yai-HfshaT

4) NenRe-giharEs

yiqemanen foenf & fow freefoRea

T q g-a ARE e 787 B S
e ?

1) @ Uode dF & G

2) @I
3) YRS [Rreror
4) Gade HEHH
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22.

23.

24.

According to Pavlov's Classical
Conditioning theory of learning,
which
presentation  of

temporal sequence

natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace

4) Backward

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program



25.

26.

21.

frefofeg & ¥ 9-a1 gu@sh fwem
H TF sid 78 8§ 7

1) TRl & RS

2) T @ f=ia

3) fafaerr &1 S F9M @l Rsid
4) e 3 AR @ fEia
fr=ifefeg & @ -1 dO& Jgfas

Rreraiell & ogaR Reor & gweq
7&f o ?

1) foeniEl &1 s=1 998

2) JaRTH R

3) UIgIshH H R

4) ToEiEl @ emaneT & FH

fafare  oTagmatel  d = @
AEEN B T & H Jehm
eI & g 8 S

1) &1 9599 &% [9aed | 9997 &+

2) gau g gREmd wem B

3) I AT SMETHar B TEAI
T eI § Sl TG

4) I HAAWEF HeEdl YAl TEH
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25.

26.

21.

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.



[12/A]

28. fr=fafad & 9 d9-91 &9 e &

29.

30.

g § o 78 B ?

1) [9FE IREES T ST Hw
3EE B

2) URR & & g a1 a6l
foeprg atfres iR 2 B

3) fomm foX @ W i Rsm & om
T Bl

4) fopE =g o ¥ B # R
ol Bl

oL e & Bemrd Reia has
T ufquifed fohar ar ?

1) Piftey, W wd Rewnas
2) WX T forent

3) FHBAT TG &R

4) odel, SfeE Td g
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¥ gRYFadr ST | & I8
g fhes T d T R ?

1) S SE
2) e
3) R
4) TS

28.

29.

30.

Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3 /1308 ]
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[13/A]

31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L

2) Ui - fAueT @ IawEe

3) UREH - JUrErE Qe

4) Y - G § WHq HEaEs
Ell
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1) SEf - @, 9 - e

2) WY - g, 79 - gEA
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4) THI - T, g - |
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4) VA - fRe™ o=
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35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it

3) I

4) IFER

e # 9 e 9w @ 9= foeee
gt | fafa € °
1) edtad, siferEr
2) ST, FHHET
3) Regd@R, ST

4) R, TNl

EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3 /1308 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[16/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3 /1308 ]



AW 11/ PART = Il
AT o799 / GENERAL STUDIES
RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

[17/A]

fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 90 IR Sa7 f&am
# R oAl Je F@ @l ©, ol
SHS 19 B H R B

1) SI-gd
2) UltEH

3) T
4) TTR-UIRTH

Th T 20 I g R AR @ e
¥ uF gue # qur I g0 H@ AN @
oot s & 2 9@ & @@ & F,
@ A I H G @ A ©

1) 10 fHt/=ver
2) 12 f®Hl/g0e
3) 13 fHl/gver
4) 15 fHl/guer

[ Level-3 /1308 ]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5

P.T.O.



[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) odf
2) 104
3) 114
4) 124

U %= e 9 § 'CEG' &l ‘TSR’
dem 'FHJ' & 'QPO' for@m <mam &, &
TH @AM AW H OIKM' & femar
SR

1) NOP

2) NOL

3) NMK

4) NML

e}l EAML ¥ fha @efe 9 91
ST Hhd § 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgye d aiie Hv

EIoEET 7:2 @&, a@ 3
TS A TSl A B

1) 7 2) 8

3) 9 4) 11

[ Level-3 /1308 ]

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11



68.

69.

10.

11.

frefafed @& S & SFET U
ST i
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 9T H,
T B T 1 d% P I 6 g F
W O HhaT 21 IR A A B T
Y 2 99¢ % o e & 99erq Ad
A P T¥ T &A1 C, T 9@ B &N
ST ¥ P WX AT ?

1) 2 g2 ¥

2) 2% g §

3) 3 guwe d

4) 3% g {

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &, a
I Yot H 47+ 33 H AN B ¢

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R
oqr ?

1) ar

2) e

3) R

4) TR

[ Level-3 /1308 ]

68.

69.

10.

11.

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 %« 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.



[20/A]

12.

13.

14,

15.

off 1 SFET T B
Z1A, X2D, V6G, T21], ?
1) R8TM
2) R8IN
3) R88P
4) R88M

x-3&, y-3& T 4x+3y =12 &N
Fftfd Brgst & awrrEa & B @

1) 2 3FE
2) 2.5 IHE
3) 3 IHE
4) 4 THE

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX I IRT%S 107 §
qoiaan fasieta &1 S ©

1) 52
2) 55
3) 71
4) 16

[ Level-3 /1308 ]

12.

13.

14.

15.

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM

2) R8IN

3) R88P

4) R88M

In English alphabet, the number of

letters skipped in between

adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?

1) DJOTV
2) DJOSV
3) DJOSW
4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit

2) 2.5 unit

3) 3 unit

4) 4 unit

Find the least number which must
be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 176

exactly



16.

11.

18.

19.

UMl H g H fE g H PRt
ST ST fob O [ bl e e W
SO T 20% N AH B 7
1) 1:5 2) 2:8
3) 3:5 4) 4:8

us e Ui &1 4% affe W ®
2 99 % QT ThafE &N Ud AR
& & S ©

1) 52:51
2) 52:50
3) 51:50
4) B53:50

b

U # Tl T T MR AN
R 4 e ggEg A X ST TS &
50% e fan A af & o= H Fa
21,600 YA H AN A &, ol W
T Y B R B

1) 2,400 &9

2) 3,600 &7

3) 4,000 &

4) 4,200

q¢ A, B o C H

DN
W |
oo

Th A 20% Y 9 Th a&]
SO B, A W I & 12 TW@
it | o=, df IH 10% B AT
Bl 3 a%g H HY A ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3 /1308 ]

16.

11.

18.

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

23’5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.



[22/A]

80.

8l1.

82.

83.

Ve )

a*+a” 1-a
+
l-a 1++/a

a2

E

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Q

Qfrerfees g G oTaRed @

1) o R o
2) FHoee o |

3) IR P d
4) YT ot J

fPe BRAE 9 ST, 2023 H ARC
TS %l HaE {7

1) §9 faeg
2) ey e
3) 9y RIS
4) Tifed

A & ekfed Taue §Od
P oE W TH SR & ?

1) o gHdiR

2) 4 JIwR g S

3) 4t Bl = W

4) o gLoid e guarierm

[ Level-3 /1308 ]

80.

8l.

82.

83.

Ve 1 —Va

L1-a
1++va

1 _
a’*+a

is equal to :

—
|

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Qv

Historical village Sugh is located
in:

1) Ambala district
2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[23/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 31 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1308 ] P.T.O.
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88. =RAMT ¥ RGN WoNE dx FEl Red 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) TR 3) TJhajjar
4) THa= 4) Bhiwani
89. BRIM T Hedhrl ?iﬁ Td I 89. When the Haryana State Co-
foere drE o # ®AT w9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥ad, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) S¥Ed, 1996 4) January, 1996

90. =Emm # aRdl™ SCkll MEnfen 90. Where in Haryana, the Indian

HEI el feud ® 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3 /1308 ]



AT — IV / PART - IV
i9e ECONOMICS
fraer : i gl & SR 39 & e @98 S faeke gim

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

92.

93.

“omafa ot RE? & G § -
B FAT T ?
1) TP AN qaq i § 2 B

2) R Fw TEEh ®, @ T
3 oTvast It H Sgar e

3) @l Mad UH-gER ¥ W EU SN
S &l

4) Igd RET H GEEAl 9 FHNKR
e T HEiRoT fohar o Gehar B

IRd & R HifT F9 AR TS 7

1) % ®Ed 1966
2) Y&l BEd 1965
3) & HOd 1966
4) E{% HEA 1964

A FER § S A=A
qMEM” & @9 ¥ by ik SUeHIe
& IYANT Bl B ?

1) 999 o=
2) Hegwry
3) fawr

4) GIH®

[ Level-3 /1308 ]

91.

92.

93.

Which statement is false regarding
"Frequency Histogram" ?
1) Itis used for continuous series.

2) If class intervals are inclusive,
should first be

converted into exclusionary

then they

ranges.

3) All the rectangles are made
adjacent to each other.

4) Arithmetic
determined with the help of

mean can be

histograms.

When was the Green Revolution

adopted in India ?

1) Kharif crop 1966
2) Rabi crop 1965
3) Rabi crop 1966
4) Kharif crop 1964

Which statistical tool is used in
weather news as "daily maximum-

minimum temperature" ?
1) Standard deviation
2) Correlation

3) Range

4) Index Number

P.T.O.



[26/A]

94. TANR! edTTe B H-d1 o1 7&7

95.

96.

91.

g7

1) i deMt 1 Jsdq IUAT
2) Y =l | PR

3) SUMF B AR

4) TS e

Fricied & & Féwar Famer @1 ol
USTR FRHH HA-A1 787 & 7

1) FM & Toal ST B
2) TR

3) AR VST Jierl

4) M

S TSl @ T R, S
H W T B B, a9 ¢

1) Ay ForEs A ©
2) e g B B
3) s v &ar @
4) Ay o= & ®

1991 ¥ gR¥ 3 1 e gart &
FAEEq A @ SR @ WA
AR % [P 8 W 999 GaE
q9g 91 ?

1) P &

2) g8% JENT &+

3) Q’HoQ’HoQT{oéo%ﬂ

4) 9qa &=

[ Level-3 /1308 ]

94.

95.

96.

91.

Which is not a quality of socialist

economy ?

1) Best use of economic resources
2) Freedom from business cycles
3) Consumer universality

4) Planning authority

Which of the following is not a
wage employment program for

poverty alleviation ?

1) Food for work program
2) TRYSEM

3) Jawahar Rojgar Yojna
4) NREGA

When the Marginal Efficiency of
Capital (MEC) is greater than the

rate of interest, then :

1) Investment is negative
2) Investment is zero

3) Investment is positive

4) Investment is infinite

As a result of the economic reforms
started in 1991, China's dumping had
the most dangerous impact on which

sector of the Indian economy ?
1) Agriculture Sector

2) Large Industry Sector

3) MSME Sector

4) Service Sector



98.

99.

SRS @ fEdE e & g% #@

AT © °

1) URECESIA |Ed # AR SR
I goTl &Il &

2) F SWET Sedl g8 W § ol
Bl

3) ReR QEd &l Sgdl g FUe
H AW oW &

4) 99, FI AR ofEd  IedRd
95d 8T B &l

T TN 9% X
1) S @ AET ReX w@ AnEd
STU IREdAeid Bl

2) SO H AR AR WE ST
aMl R 2B B

3) S H AR AR WET ST
I YRR E Nl

4) IART @ AT GRECAN T HES
ST ReR B B

[ Level-3 /1308 ]

98.

99.

[27/A]

Why does the second stage of

production consider as best stage ?

1) The marginal product of a
variable factor increases.

2) Total production increases at
an increasing rate.

3) To take advantage of the

increased efficiency of fix

(stationary) factor.

4) Marginal, total and average

products are increasing.

On an Iso-quant curve :

1) The quantity of production is
constant and the factor ratio is
variable.

2) Both the quantity of production
and factor ratio are constant.

3) Both the quantity of production
and factor ratio are variable.

4) The quantity of production is
variable and the factor ratio is

constant.

P.T.O.
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100. SUSFMY & #99 § “OMe AWg qy”

101.

T 7 AR B ?

1) 6 g9¢ Sy & O™ & 261
&l &1 AT

2) 8 g9¢ Ik & @™ ¥ 273
&l &1 AT

3) 10 g9¢ Hiifed & fea & 313
&t @1 AR

4) 4 ¥9¢ Uiy % fed@E ¥ 365
&t @1 AR

IO HFd X GE HEd & q9Y
§ fifhd HEMl WX foER i ¢

() I9X  HHT  STfRIIE  OIR
131621 62 T < G121 S S K
Bt Bl

(i) SR Hiuq & e & grme
| 9aF G Bl B, SiEih
qE Hiad g @ Al gt
Bt Bl

78t e I

1) I WE T B B () B ()
& 3fed SR FHr B

2) I W TE B B (1) T ()
& I AT TE R B

3) Fad HYT (i) Tel B
4) Fad HIT (i) Tl B

[ Level-3 /1308 ]

100. What is meant by "Standard Person

101.

Year" in measurement of

unemployment ?

1) 261 days of employment at 6
hours per day

2) 213 days of employment at 8
hours per day

3) 313 days of employment at 10
hours per day

4) 365 days of employment at 4
hours per day

Consider the following statements

regarding market price and normal

price :

(i) Market price is related to very
short term and normal price is

related to long term.

(ii) Demand side plays a major role
in determining the market price
whereas the normal price is
more influenced by supply.

Choose the correct option :

1) Both statements are correct.
statement (i) is proper
explanation of statement (i).

2) Both statements are correct.
statement (ii) is not proper
explanation of statement (i).

3) Only statement (i) is correct.

4) Only statement (ii) is correct.



102.

103.

FIF A PRI W AR HR
FIT : YW ArE e 7 ofed
AR SUS & Z-AHR B T
BT TA-3TIX I el 2l

: TS § AR Hh BEHH
yfawa @t fhansiierar @ gy
H e ST Tl B

1) HIF Tl & g IR T B
2) A, HIT TEq BROT T o

3) YT TAY BRI G R Bl HR,
HIT B IUYHI AT T B

2l

4) F T FRO A G B
HRU, FIAT B IYH A
Fl Bl

IR # 5 & ugE g Rl
q MUt & [T &g ggue e
S (1974) FHI TG H TE 7

1) 91 U9 & qgua
2) AF T T FFHOT
3) g Td @i agu
4) HYE U4 fqie | qll ague

[ Level-3 /1308 ]

102.

103.

[29/A]

Consider the statement and reason :

Statement : In modern cost theory,
Average cost is not U-
shaped but L-shaped.

Reason: By improving
technology, the
efficiency and trend of
diminishing returns can
be stopped.

1) The statement is correct but the

reason is wrong.

2) Both statement and reason are
wrong.

3) Both statement and reason are
correct. Reason does not give
appropriate explanation to the
statement.

4) Both statement and reason are
correct. Reason gives appropriate

explanation to the statement.

To deal with which two major
environmental concerns in India,
the Central Pollution Control Board
(1974) was established ?

1) Soil and noise pollution
2) Air and water pollution
3) Air and noice pollution

4) All types of pollution including

sea and space

P.T.O.



[30/A]

104. 9T Uh fasprasiial orefeqawen 8, a9

105.

106.

IR H HF-A1 Y g9 Gl @l
ST 2 7

1) o iR
2) ITMEBR
3) THIEH
4) FMEHR
Qe AT I

A A= qgg B 9P
() (1) oTasE ag]
(i) TH  (9) qEN ]
(iif) Fome  (9) = agg
P-4 foweq @ef © ?

1) (i-37) (ii-9) (iii-9)
2) (i-31) (ii-9) (iii-=)
3) (i-9) (ii-9) (iii-37)
4) (i-9) (ii-9) (iii-37)

frfafad § & dM-8 gt gt

% e B i & e ?

1) W SR Gl <l

2) Yo B STIERA AR I
U< AT

3) AN H RUCT § AT A
DT

4) S9E A ST

[ Level-3 /1308 ]

104.

105.

106.

India is a developing economy,
which form of market is most

commonly seen in it ?
1) Perfect competition
2) Oligopoly

3) Monopoly

4) Duopoly

Match each other :

Income Nature of
elasticity goods
(i) Zero (a) Essential goods
(i) Positive (b) Normal goods
(iii) Negative (c) Inferior goods

Which option is correct ?
1) (i-a) (ii-b) (iii-c)
2) (i-a) (ii-c) (iii-b)
3) (i-b) (ii-c) (iii-a)
4) (i-c) (ii-b) (iii-a)

Which of the following is not a
method of collecting primary data ?
1) Information through enumerators

2) Information through schedules

to be filled by the informants
3) Obtaining information from
reports of commissions

4) Direct personal investigation



107.

108.

109.

110.

AR A § e T R 9w et
% foae™t &1 9 93 BT 8 ¢

1)
2) €HIHD

3) Th
4) +1

Frieor
e 9 fhd
bt 8 °
1) X
2) Z
3) M
4) HM

T i
qeg & TOMT B ST

afe aRdE gent 7§ & 40% R E,
ar 38 oo ¥ IwiN & fag feae
felt &1 SwanT fepa St ?

1) 144°

2) 180°

3) 12°

4) 40°

“TaRe o fER &Y ©
1) %ad @Fd MaT W
2) %ad IRT FET W)

3) HElR = ¥ uRedwl & 999 99
'rg

4) FHHT THifT T

[ Level-3 /1308 ]

1017.

108.

109.

110.

[31/A]

The sum of the deviations of
different wvalues taken from the

arithmetic mean is always :
1) Zero

2) Positive

3) One

4) *+1

Which mean can be calculated with
the help of inspection method and
grouping method ?

1) X

2) Z

3) M

4) HM

If 40% of Indian men are educated,
how many degrees will be used to
represent it in the pie-diagram ?

1) 144°

2) 180°

3) 12°

4) 40°

"Dynamic multiplier" considers :
1) Only on autonomous investment
2) Only on motivated investment

3) On the time path of changes in

related variables

4) On price inflation

P.T.O.



[32/A]

111.

112.

113.

fp orefame ot @l “amioTE
fasT @ T ey o ?

1) fd

2) et

3) dguead
4) FHH

A B YT & AT |

1) o & iR frafa 76 & s

2) il’qﬁqﬁﬁﬁ'{ﬁ'ﬂfﬁﬂﬁﬁﬁﬁ

3) %Wmﬁﬁqﬁﬁﬁﬁ

4) }H@Tﬁﬂiﬂﬁ?ﬁﬂﬁaaﬁ
|

‘Tl Mo THo”  (JfTema= &l

d9id ) & TR § -1 FI TR

TEE 7

1) THo dRo UHo & ¥ad & &RV
q @ TRl @b Yoiag @ Sl
T B g

2) Wo ¥Ro UTHo TTEdl T &
el o f4g W IEh RS
o G o< el el

3) THo ¥Ro THo TF &l ToEl &b
W BN arl Tioslidar & aReid
B &l

4) THo HRo THo HHl W o
Tl Tl & a1 B T |
qReia &t Bl 2
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111.

112.

113.

Which economist called economics
"the queen of social sciences" ?

1) Hicks
2) Marshall
3) Samuelson

4) Keynes

Due to devaluation of the country's

currency :

1) Imports become cheaper and
exports become expensive.

2) Imports become expensive
and exports become cheaper.

3) Import and export both become
expensive.

4) Import and export both become
cheaper.

Which statement is not correct
about "MRS"
Substitution) ?
1) Due to the decrease of MRS the

IC become concave towards

(Marginal Rate of

the origin.
2) MRS
negative slope of the IC at any

is obtained from the

point.

3) MRS 1is defined by the
movements occurring on the
same IC.

4) MRS is never defined by the

movements between different
IC's.



114.

115.

Sflo o dlo & =9 FftehT & AR
ot offqm ST =1 ¥ IH-d0 9=
gl 787 2l © °

1) TE & SR @ g, S
P @ IUHT #X A 2

2) FOGRAT AR I, S ARE B
IESl & &0 H O e ol

3) WEMI H @I & fEm & fau
SUHRT I RN gl

4) URPET @ U IREAR & e
3 foe it T fand

‘Ul FdaEl & T A S
T Bl ¥ R @ @@, B
AR foas T & & 817 9@ HH
fFrfola & & e orfsmel & & ?

1) fer
2) =L

3) g
4) e

[ Level-3 /1308 ]

114.

115.

[33/A]

According to the expenditure
approach of GNP, which item is not
included in private final consumption
expenditure ?

1) The wvalue of production of

food grains, which the farmers

themselves consume.

2) Wages and salaries, which
individuals receive in form of

kind.
3) Rental value of houses for own
residence.
4) Services rendered by
housewives to their family

members.

"Every economy faces three major
problems which are related to what,
how and for whom." This statement
is of which of the following
economists ?

1) Hicks

2) Marshall

3) Samuelson

4) Tobin

P.T.O.



[34/A]

116. gvf‘*lcll % dGr ¥ Uh aqyg 4l JIq 116. In the world of scarcity, choosing
H G feer Q{T{T q&] bl TR one good means giving up another
HET Bar 21 fher off @i TI".% q&g good. The value of any given good
Qa1 H 19 34 BRI E:  AT or service is called the .............
AN B B cost of that decision.
1) A& 1) Opportunity
2) dRdidh 2) Real
3) qfes 3) Monetary
4) Ug&§ 4) Direct
117. TS & F@ﬁf e ? 117. What is the nature of Economics ?
1) ST Raa® fOsTe Bl 1) Economics is a positive (real)
science.
2) S STENHS [OFH Bl 2) Economics is a normative
science.
3) T FHAl B 3) Economics is art.
4) I FAT T foF AN R 4) Economics is both art and
science.
118. “AtMN #WY” & Wy [Fad 78 118. "Scale of Preference" is not related
% ? to:
1) SUST B SR AR TEg 4@ 1) Consumer's taste and
preference
2) el 9 9 2) Indifference curve
3) TR Bl ‘5@%3 q 3) Consumer satisfaction
4) T& B HAd 4) The price of the item

[ Level-3 /1308 ]



[35/A]

119. f=fofed & § #F-@ oW ‘afte 119. Which of the following question is
rdeTe’ | TEied T8 E ? not related to 'Microeconomics' ?
1) 3dEA 3 e H®OAed Hd 1) How will the returns to factors
freifRa = ? of production be determined ?
2) Th Y %] QA g*:‘g£ T W 2) How much will a firm produce
fehT SaTes B 7 at a given price of a product ?
3) fafvF S ® SR & Qs 3) How will the factors of
F SAEeT B B 7 production be allocated among
different uses ?
4) E[”f AR B I fhar o1 Hewell 4) How can full employment be
g7 achieved ?
120. UM F HAHIA H TFA & w9 F 120. "The Cobweb" as a method of
“dq S ® studying economics is :
1) At fasarser 1) Dynamic analysis
2) Wfcrp fasamer 2) Static analysis
3) JaIHb W fagermor 3) Comparative static analysis
4) Y o Wed EESLE 4) Analysis without time element
121. f=idiaa @ gafkid i 121. Match the following :
(i) SsE (37) Tt e @ OQuestionnaire (a) Primary data
(i) ded Gfa (3) faxios @%b (i) Lotterymethod (b) Secondary data
(iii) GHE-9A (H) yfoest T (iii) Newspaper (c) Sampling
= AECIY ?ﬁ : Choose the correct option :
1) (@-99) (ii-9) (iii-¥) 1) (i-a) (ii-b) (iii-c)
2) (1-39) (1i-¥) (iii-9) 2) (i-a) (ii-c) (iii-b)
3) (-9 (ii-37) (iii-¥) 3) (i-b) (ii-a) (iii-c)
4) (1-9) (ii-9) (iii-37) 4) (i-c) (ii-b) (iii-a)

[ Level-3/1308 ] P.T.O.
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122.

123.

124.

125.

P Gewis X 7 T SR
g7

1) fheR &1 gahis

2) N H GEHD

3) TR F IR

4) S B YR

SOX AV H HIE & fH TR
fpam T e & 7

1) SIqHI

2) WRTEHI Hl TG
3) faidl @t sdicated &b

4) ST B TEEHT

aRa e S @ Afse Afa @
& o9l HH-91 7 ¢ °

1) T R & < B

2) HRi% gia H ieEried BT

3) T %l IR bl AR B

4) TG F faedl O X § Rera
SISl

fyfeqr oM & § TduRM 9RT @

SZEAIREE R L | I 4 g
54 SN & APER 39 G A
Pl TG .......... 1l

1) 1872-15.4 %S
2) 1881 -35.4 FS
3) 1881 -25.4 FS
4) 1872-35.4 %S

[ Level-3 /1308 ]

122.

123.

124.

125.

Which index is based on geometric
mean ?

1) Fisher'sindex
2) Paasche'sindex
3) Laspeyre's index

4) Baule'sindex

How can the deficit in trade balance
be eliminated ?

1) Devaluation

2) By increasing inflation

3) Discouraging exports

4) By increasing imports

Which is not the main objective of

the monetary policy of the RBI ?

1) Achieving price stability.

2) Encourage economic growth.

3) Maximizing the productivity of
money.

4) Stabilizing the foreign exchange
rate of rupee.

During the British rule, the first
synchronous census of India was
conducted in .......... , according to
this census the population of India
at that time was .......... .

1) 1872 -15.4 Crores

2) 1881 - 35.4 Crores

3) 1881 -25.4 Crores

4) 1872 - 35.4 Crores



126.

1217.

128.

‘omest ATe” A AW dE- 78

g7

1) Esl qEm B gEe  qREimd
BT =Ry

2) ¥& gl el T SAEma B
Bl

3) ¥ A Tl § waltw gt
BT =Ry

4) F® FF deroeE  feesE F
eg® Bl ARy

aAfvet (We) g9 & oifme R

1) 9 H g & 9 dHid STHN
ygiy el ol

2) M H gfe & | diHid T
ygfa gt &l

3) W # g & |y diHid IUAT
ygfa eTfakia &l &l

4) 99 T H FH B B, A STEN
Ig H IEh AJEU FHH el
B B

oo S @ GRE ¢ ‘S G’ H
U i qor [ S gl
T a9 217 e & o ?

1) fhoea RS
2) o Uqo 3
3) ST

4) JTH

[ Level-3 /1308 ]

126.

121.

128.

[37/A]

Which is not a characteristic of the

"Ideal Mean" ?

1) The
clearly defined.

2) It should be based on all

values.

ideal mean should be

3) It should be most affected by

the extreme values.

4) This should be helpful in other

algebraic interpretations.

"Ratchet effect" means :

1) MPC decreases with increase
in income.

2) MPC increases with increase
in income.

3) MPC remains unchanged with
increase in income.

4) When there is a decrease in
income, there is no corresponding

decrease in consumption.

Definition of Commercial Bank : "A
bank is a manufacturer of credit
and a instrument for facilitating

exchange." Who gave it ?
1) Findlay Shirras

2) M. L. Jhingan

3) Crowther

4) Sayers

P.T.O.
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129.

130.

131.

forme fafr @ o & -
1) aq Afes T B ST

2) %ad HMAF AT GG a @l
ST

3) dM 9 fafdre ey @ ok

4) ffire Fepy @ W @RS
A @ SR

ARG EEAoE gl T 39 &
el o & AR &l €

I SURT & ddl H SdRedl H

g HD|
I 9 R 3% H T&HR &
T J&M |

I 39 & ST & Siia & o §
I HT|

1) 13RI
2) 18R I
3) II &R I
4) Faq 1

“dfa fg” & T i & 7

) P g W d9a Swfar
AT & SR 2

2) R g W o ST A
g S Bl

3 PE g W W IwEIF
A B S B

4) 9 &g W FF SWRET A
g S Bl

[ Level-3 /1308 ]

129.

130.

131.

Deductive method means :
1) Study of physical elements only

2) Study of only human or social
facts

3) From general to particular

4) From particular conclusions to

general axioms

Infrastructure contributes to the

economic development of a country

by:

I. Increasing the productivity of
factors of production.

II. Providing stability to the state
and centre government.

III. Improving the quality of life of
the people of the country.

1) TandlIl
2) TandlIll
3) ITandIIl
4) Onlyl

What is meant by "Saturation Point" ?

1) The point at which marginal
utility is maximized.

2) The point at which total utility
is maximized.

3) The point at which marginal
utility is minimized.

4) The point at which total utility

is minimized.



132.

133.

134.

FgrE & Rl woTgE Rl
-l & ?

1) ATEA-FEA iy

2) e wes fafy

3) il warT fafy

4) FHEMl FYF Ay

Sfto o Gro fewiex WM & & -

1) Sifo To Ulo # § SHGEAT &
J9g &M & g

2) Sito G0 Yo # | Al # gf&
H T9G FeH & ol

3) Silo THo Yo H { AR UM &
J9g &M & g

4) TET 9@ § § fUsq awt &
JARA H BN & T

O (D) : Bl g9 g W aad
T TF WiE (ER) H
AR B

HI (II) : fpelt ad # ‘gofe @ Hwer
U% Ja76 = o

1) [ FHIT TG B
2) TN HIN T B
3) Bad FUT (I) TEI 2

4) ad I (I) Tad 2

[ Level-3 /1308 ]

132.

133.

134.

[39/A]

What is the main method of

principles of Economics ?

1) Inductive-Deductive method
2) History writing method

3) Controlled experiment method

4) Story telling method

GNP deflator is useful to :

1) Remove the effect of population

from GNP

2) Remove the effect of rising

prices from GNP

3) Remove the effect of double

calculation from GNP

4) Remove previous years

production from National Income

Statement (I) : At some point of
time 'Public debt'

is a stock concept.
Statement (II) : In a given year
'‘Budget deficit' is
a flow variable.
1) Both statements are wrong.
2) Both statements are correct.
3) Only statement (I) is correct.

4) Only statement (I) is wrong.

P.T.O.
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135.

136.

el JUAeHAl Y B B
1) g e |

2) R EHy )

3) TEMI & A W

4) | faweq w2 @

R -1: SRR 9o F M oI
SIS O R LY
Srgug

AR -I0: I & ©ife qewd &
U o9, S A qgaen]
P HE HE 2

H?:?ﬁib_vqﬂﬁ:

1) AR -1Td AR - I S0 |l &
2l

2) Pad AR -1 T&I &

3) 9K -1 T4 X - I A1 && &
AR - II, 3R - 1 &I | e
FXAT B

4) AR -1 TF X - I A1 q&r &
Al X - II, X - [ & T
A & B o
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135.

136.

Food availability depends on :
1) Supply chains

2) Food reserves

3) Import of food grain

4) All options are right

R-I: The Zamindari system was
unsuitable for agricultural
development and social
justice.

R-II: The land was owned by

the middlemen who got the
agricultural work done by
charging Lagaan.

Choose the correct option :

1) Both R -1and R - II are not

correct.
2) OnlyR-1Iis correct.

3) BothR-IandR-II are correct.

R -II correctly explains R - 1.

4) BothR-IandR-1II are correct
but R - II does not explain R -1

correctly.



137. Fr=fafad & & @9-a1 o, RU g
MRS F AR TgEH IR ()
R 7

25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61

1) 23
2) 24
3) 35

4) 46

138. URP¥® WRdE oNiie e & ey
¥ o FoF Bifed
1) 9RG ¥ FE9EH WX THo fsasadar
7 1934 ¥ UaN M1 SR

2) faQ@ea ¥ ‘@rE M BR
gfvsar A g fordl

3) Rt &l 9RaE FEeH &
e ®edt

4) fasasaear § o F FN q TEE
SOl H BFED B # KM
feam

[ Level-3 /1308 ]

131.

138.

[41/A]

Which one of the following is the
interquartile range of the given
data ?
25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61
1) 23
2) 24
3) 35

4) 46

Select the false statement regarding

early Indian economic planning :

1) In India, Sir M. Visvesvaraya
first made a five-year plan in
1934.

2) Visvesvaraya wrote a book
named 'Planned Economy for
India'.

3) Visvesvaraya is called the father
of Indian planning.

4) Visvesvaraya proposed to
reduce labour from agriculture

and concentrate it in industries.

P.T.O.
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139.

140.

141.

I @ T3 e - Radr A IR g
AT, S BRG it w1 SMER i,
e foaRe =t ?

1) faferaw it

2) Hlo gHIH

3) THo THo WM
4) FET A

e A & AME, dE T g g W
20% F90 FJ &, A [ B AN
1 B ?
1) 0.2
2) 0.5
3) 2.0

4) 5.0

HIATT & fHH gl # gfe 9 W)
99 FH 99 9l § 7

1) @i

2) yitasi

3) ST
4) yfcET

[ Level-3 /1308 ]

139.

140.

141.

Who developed the new wheat
varieties — Sharbati Sona and Pusa
Lerma, which were the basis of

Green Revolution ?

1) William God

2) C. Subramaniam
3) M. S. Swaminathan

4) Norman Borlaug

If the citizens of a country save 20%
of the increase in income, then what

will be the value of the multiplier ?
1) 0.2
2) 0.5
3) 2.0

4) 5.0

In which system of taxation there is

least pressure on the rich class ?
1) Mixed

2) Progressive

3) Proportional

4) Regressive



[43/A]

142. TegwR Y% @ © 142. Correlation coefficient is
independent :
1) ad E@ﬁl'_g' T gfRaa @ 1) By changing the origin only
2) %ad A9l H qRaa o 2) By changing the scale only
3) 7 ar Wﬁ, T & Ao " 3) Neither the origin nor the
qRaa | change in scale
4) TAEg AR A aFl § qRecs 4) By changing both, the origin
q and scale
143. H= 9% &N G TR F ferfert 143. What would be the likely outcome
Pl foehl @1 Geriaa aRem @ e ? of a sale of securities by the Central

Bank in the open market ?

1) Xddr AR & XA '3[@ 1) Increase in liquidity and

interest rates

2) T ¥ giE ol & & F FHi 2) Increase in liquidity and

reduction in interest rates

3) Tadl AR AN & F FH 3) Reduction in liquidity and

interest rates

4) TAA F FH AN IS K| F R 4) Reduction in liquidity and

increase in interest rates

[ Level-3/1308 ] P.T.O.
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144. [EEET e § QreAl aq a&iel @l
yarE fT & &5 & HeF B © ?

(@) REr

(i) SEEH HH

(iii) TR

(iv) I’ 3N

el faea g

1) Bad (i) R (iii) T& 2
2) Fa@ (i) 9R (i) &
3) Fad (i) R (iv) T T
4) Fa9 (i) oI} (i) T T

145. “Fa1 BT AT fawa-agg ©

1) Jrdfas fasm= &t
2) STEEH s @l
3) el Wl

4) it B
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144.

145.

In the two-sector model, between
which two sectors does the flow of

factors and goods occur ?

(1) Household

(ii) Producing Firms

(iii) Government

(iv) Foreign Countries

Choose the correct option :

1) Only (i) and (iii) are correct.
2) Only (i) and (ii) are correct.
3) Only (iii) and (iv) are correct.

4) Only (ii) and (iii) are correct.

"What should be" is the subject

matter of :

1) Positive (Real) Science
2) Normative Science

3) Arts

4) Statistics



[45/A]

146. THrT AF e Rafq § gecqt B ? 146. Under what circumstances does
marginal cost decrease ?
1) 59 G9aEE diaed B @ 2| 1) When there are equal returns.
2) W9 BEHM faed A @ R 2) When there are diminishing
returns.
3) 99 a9 ufawa B @ F 3) When there are increasing
returns.
4) a4l JHR & gfowa @ Rfa 4) In case of all types of returns.
147. Tl q%] N TH ?FFI"QX M = | 147. What is the increase in total
NERIE g S E{ﬁx’ Bl §, S§ A revenue by selling one more unit
Fed ¢ ? of a product called ?
1) HH 3 1) Marginal product
2) HHEN T 2) Marginal revenue
3) e I 3) Average product
4) Afea srm 4) Average revenue
148. “Gifeq &=%” § i afafad & ? 148. Who is included in the "organized
sector" ?
I il gEe &% T I. All public sector establishments.
I 10 7 A% FHA B ISR II. Private sector establishments
3 A e & Ui employing 10 or more
employees.
. &9 9 &9 & Aadl a1 Th III. At least two people working
T B together.
1) 18RI 1) IandII
2) 13RI 2) landII
3) Faq I 3) Onlyl
4) L II 3R 1 g 4) AlI, IIandIIl

[ Level-3/1308 ] P.T.O.
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149.

150.

Frefaied oM ol ®ReT & T A

el fehed I

HYF : HERGAT IURT GHEAT I
(PPC) Tdleg & Ui TdlX
BT T

HROT : SHH HROT JIAM TN AT
& a9 & B

1) 39 & B, BN, B B TE
AT I B

2) ®ad FHUT GEl B, HNOT TEl el
2

3) %ad BRI TE §, B el Tl
zl

4) T M HRT A TEl & ApA
HROT, HYT B el A T
FXAT B

e BEA R a1 T G O A
fqQtser 787 et © 7

1) a%] T

2) %% sl IR ®3 fasean

3) 5 ®HI P FaAS

4) T8 e

149.

150.

Select the correct option regarding
the following statement and reason :
Statement : Generally the Production

Possibilities Curve (PPC)

is concave towards the

origin.

Reason: The reason for this is
the law of increasing
relative cost.

1) Both are correct, reason

correctly explains the statement.

2) Only statement is correct,
reason is not correct.
3) Only reason is correct,

statement is not correct.

4) Statement and reason both are
correct but reason not correctly

explains the statement.

Which characteristic does not occur
in monopolistic competition ?

1) Identical product

2) Many buyers and many sellers
3) Entry of new firms

4) Product discrimination

[ Level-3 /1308 ]
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usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.
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11.

12.

13.

14.

15.
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11.

18.

19.

20.
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The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
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TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
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answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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